#7  $\int t \operatorname{an}^{2}(\ln x) dx$   $u = \ln x$   $\Delta u = \frac{1}{x} \operatorname{dx}$   $\frac{1}{x} \operatorname{is present}$   $2 \operatorname{this} - \operatorname{sub}$   $3 \operatorname{this} - \operatorname{sub}$   $4 \operatorname{this} - \operatorname{sub}$   $5 \operatorname{this} - \operatorname{sub}$   $4 \operatorname{this} - \operatorname{sub}$   $4 \operatorname{this} - \operatorname{sub}$   $5 \operatorname{this} - \operatorname{sub}$   $4 \operatorname{this} - \operatorname{sub}$   $4 \operatorname{this} - \operatorname{sub}$   $4 \operatorname{this} - \operatorname{sub}$   $5 \operatorname{this} - \operatorname{sub}$   $4 \operatorname{this} - \operatorname{sub}$   $4 \operatorname{this} - \operatorname{sub}$   $4 \operatorname{this} - \operatorname{sub}$   $5 \operatorname{this} - \operatorname{sub}$   $4 \operatorname{this} - \operatorname{sub}$   $5 \operatorname{this} - \operatorname{sub}$   $4 \operatorname{this} - \operatorname{sub}$   $5 \operatorname{this} - \operatorname{sub}$   $6 \operatorname{this} - \operatorname{sub}$   $4 \operatorname{this} - \operatorname{sub}$   $5 \operatorname{this} - \operatorname{sub}$   $6 \operatorname{thi$ 

TRIG INTEGRALS -

		Diamen,
Pythagorean	Tris sum farmula	Other Common
7	sin(x+y) = sinx cosy + siny cosx	x=y sin(2x)= 2sinx cosx
· SINO + (0)0 -1	SIM(AT 1)	cos(2x) = cos x - sin x
	set x	y use Pythas
ь	(x+y) = (x+y	
		( Isolate Sinx
D		$\sin x = \frac{1 - \omega s 2x}{2}$
		power reduction Formula
		$\cos^2 x = \frac{1 + \omega \cdot 2x}{2}$

Integrals of form  $\int \sin^n(x) \cos^m(x) dx$ (n=m=1) we did this earlier today u-sub

- 1. identify the odd power (if both are even try something else)
- 2. peel of a square from it
- 3. use the pythagorean to replace the square
- 4. set u = the base of the even power .... the odd power base become du

$$= \int \sin^{4}x \left(1 - \sin^{2}x\right) \cos(x) dx$$

$$u = \sin x$$

$$du = \cos x dx$$

$$= \int u^{4} \left(1 - u^{2}\right) du = \int u^{4} - u^{6} du = \frac{u^{5}}{5} - \frac{u^{7}}{7} + C$$

$$= \frac{1}{5} \sin^{2}x - \frac{1}{5} \cos^{2}x + C$$

$$= \frac{1}{5} \cos^{2}x - \frac{1}{5} \cos^{2}x + C$$